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QtpiwghG tpunypltph wlinuwpdtjhmpjwl tmpymGp hGupuwynp £ puyw-
hwjwnty” G GEny dnityniwjhG-yhGtnhly mtumpjw b npniypltphy:

Glpunntilp’ thwy wGnpp vhe Gnpiny pudwljwo k ipym hwjuwuwp dwub-
nh: Fpwlyhy dtyp ygwo t qugny, huy Wynup® nuuupy k: UhGhwjwm k, np tph
puykilip vhoGnpuip, quqp YqpuntiyGh wipnng wlnpp: 9w whnunpdbih ypnytu L,
pw(h np tpptip wipnng winph quqp hGpGwlwd Gnphy sh hwywpyh winph dh Yb-
uny:

UlnwpdbhmpynmGp puywwnpbint hwdwp hwpytlp hwjwlwlwbnipynilp
wjG pwGh, np pwnuwjhb pwupddwG 2 Gnphhy qugh dntyney Gepp dwdwGuyh hGs-np
wwhh JhwjuwpytG wlnph vh Yhunmd (ophGwly’ dwju):

2w hwdwp Ynnyh deowyGhGp Wnityny Geph phyp’ uyubiny dtyhy (GY.
34, w): Lwlh np pwnuwjhl pupdiwb htmbwlpny dnjthnyp wlnph we b dwfu dw-
utipnud Jupnn t qunGyt; hwjwuwp hwjwlwlwlnipjudp, wyw winph dwh dw-
untd qubytpnt hwjwGuwlyuGmpyniGp 1/2 t:

N=1 N=2 N=3
° ° o0
L ° ) °
° °
° o | o o| ©® ° °
° °
o | o o| © ° |4
° ° °
° ° ® 4 °
w P q

LY. 34. Ulnph tplym Yhubipmd dnptiyni Giph pwpfudwl hGupuynp nhupbpp

Gpb winpnmud Ju N=2 dnjtyni], wuyyw hGwpwynp pwpjumibtph phyp Yih-
Gh 4, hGywbu uwumitpgwo b 34p (jupnd: Ujn hGwpuwynp snpu nhiyptinhy dhw)G
dtymu k, np Gpyne dntyny G £ dwdwlGwlyh hGs-np wyuwhh qubynd GG qubynud GG
winph dwfu Yhumy, htnlywpwp ngpu hwjwlwwimpynip 1/4 & ud 1/22: Gphp
uniynih nhiypnid wyn hwjuwlwwimpyniGp qunetmd £ 1/8 ud 1/23 (GY.34q):
C2Gnhwlpwylbny nhnwpyjuwd giyptpp yuiwjwlwuwi N pyny dnityny Gaph hw-
dwp' Junpnn GGp wub], np hwjuwlwyuwlmpyniln wyl pwlh, np winpnd qubynn
pnpnp Unjbyny Gipp dwdwGwyh hGs-np yuwhh jhwyjwpybl wlnph vh fhund, npny-
ynud | htinlywy pwGuwaling



1.
p=iv’ (1)

Lwlh np unynpuljul yuwjiwblipnd dnityny Giph  phyp whnbtih dto L,
wuww thGunpynn hwjwlwuwlnipjnbp YhGh wGswih thnpp: OphGuwy, hwpyh wn-
(tyny, np Gnpiwy wwjdwGlipmd 16 owjwiny qugmui wwpniGulyymd L dnnw-
Unputiv 10%° dnyniy, JunwGwlp
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p:FzO: (2)

Uju hwjwlwlwbnmpyniin wyGpwh sGshG E, np pninp unjGlnt GGpp wlinph
th Yhund hwjuwpybtp gqnpoGuulnd puywnymy k:

Uju wpryniGpp yyuynid £ wyl dwuhG, np hpwluwlnmd otipdwnhGuwihywjh
tpypnpn optiipp fuhun vwhdwGwithwymad sh nimd ghpdwyhG wpnytuGhph Ypuw:
Uhypniwjwpguynd wwnndGtph b dnptyny Giph pupdnudGtipp nupdbh G6: Uwy-
pniwjuwpnuynd (Who pyny dwuGhlyltphy Juqiyuwo hwiwljwpgbpnd) nhnynn
wynnytiuGtpp pwywpdwly wlnupdtih sk6, vwluwyl gpuiy hwywluyuwlinpnGi
w)Gpwl thnpp E, np gnpoGwlwbnd tpptip st6 nhunynud:



